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R, (t,1,) = ELZ(t,)- Z(2,)]
=E[(X +71)-(X+11,)]
= E[X° +1,t,Y? +(t, +1,)XY]

= EX’ +t,t,EY’ +(t, +1,)E(XY)
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H/EN (t) u[ N(t)]= S(t) 5NOBAHE

BJEV(H)=S(t)+N(ORIEHE.
N EREFHRERR R,

R VORI ERE]
My (t) — EV(t)]
= E[S(t)+ N(¢)]

= E[S()]+ E[N(1)]

= s (1)
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RV (tlatz) — E[V(tl) ’ V(tz )]

= E{[S(t,)+ N(t)]-[S(t,) + N(t)]}
= E[S(t,)-S(t,)]+ E[S(t,)N(1,)]
+E[S(t,)N(t,)]+E[N(t,)N(t,)]
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B E[S(t)N(1,)]= E[S(1)]- E[N(t,)] =0
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Y(t) = X(t+a)— X(t)
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R, (t,,t,) = E[Y(t)-Y(t,)]
=E[(X(t,+a)-X(@)) (X, +a)-X(1,))]
= E[X(t,+a)- X(t, +a)] —E[X(t, +a)- X(1,)]
~E[X(t) - X(t,+a)] + E[X(t,)- X (t,)]
=R, (t,+a,t,+a) —R, (¢, +a,t,)
- R, (t,t,+a) +R, (t,t,)



